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PART - A (WT1-31)

List of few Rajput rulers is given below :

1. RanaSanga 2. Chandra Sen

3. Man Singh 4. Rai Singh
Choose the two who did not help the
Mughals :

(A) 3and 4 (B) land2

(C) 2and 3 (D) 1and 4

i T e ) e A & %

1. | 2. =

3. HMfdE 4. Tty |
T ¥ I G H I BN et w
g e o

(A) 33 4 (B) 13R2

(C) 233 (D) 134

What is the length of wall of Kumbhalgarh ? ?
FHETE H A ) wad free ] 7

(A) 30km (B) 47 km

(C) 36 km (D) 44 km

After the death of Maharana Pratap,
which of the following Rajput became
the ruler of Mewar ?

(A) Amar Singh (B) Karna Smgh
(C) JagatSingh (D) Raj Sin
TREITOT SaTd Y m%mﬁw%ﬁraﬁ#

|1 TSI HelTS HT AT &1 7
(A) IrUitiE (B) wuifig
(C) Srafdg (D) TifiE

Which of the following is not the prominent
sites of Ahar-Banas culture of Rajasthan ?

(A) Gilund (B) Ojiyana
%rrl{ Balathal (D) Lothal
A | BH "1 TSN H RS-
. HEH I W TE R 7
(A) e B) Afemn
(C) rema (D) we=

Which of the following river is not
included in the rivers of the Bay of
Bengal Dramage System of Rajasthan ?

(A) Chambal (B) Luni
(C) Banas _ (D) Banganga
%n:r%%a 4 q B H T e f

A -3 fi T
snfaaqgf%g'? IR e
(B) ot

(A) =S
(C) =™ (D) SR

6.

Which of the following districts of

Rajasthan are situated on international

border ?

(A) Ganganagar, Bharatpur, Jaisalmer
and Jalore

(B) Barmer, Bikaner, Jodhpur and Jalore

(C) Bikaner, Ganganagar, Jaisalmer and
Barmer :

(D) Jalore,
Bikaner

oy % fafafea § @ 99 @ R

Faiga fmw fRm §

(A) TR, S af ek

(B) redt, ST, gt 3R AR

(C) BT, AT, et 3 AT

(D) SR, JEer, STei 7R sfiwmt

Jaisalmer, Barmer and

Which of the following inscription provides
information about the genealogy - of
Chauhan dynasty ?

(A) Rai Singh Epigraph

(B) Achaleshwar Inscription of Abu

(C) Inscription of Dilwara

(D) Bijoliya Inscription

Frer 8 3 a1 R e e
SIMTEE % TR § AHHRT ITTeY Har ] 7

(A) T3 fiig Remee

(B) 3T %1 ST=eiveR et

(C) feerare & firemer@

(D) femnfern freere

Sonari variety of sheep mostly found in
which of the following dlstrlcts of
Rajasthan ?

(A) Jaisalmer, Bharatpur, Barmer

(B) Udaipur, Dungarpur, Bhilwara

(C) Jaipur, Jodhpur, Tonk

(D) Ganganagar, Bikaner, Jaisalmer

ﬁgaﬁmwmﬁrm TR %
Fadafm e dad a2 ?
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10.

Which of the following scholars
described battle of Haldlghatl as ‘Battle
of Khamnaur’ ? -

(A) Abul Fazl

(B) Gopinath Sharma

(C) Colonel Tod

(D) Badauni

T % 38 9 e 3 3 e g 3
TR I GE FETR ?

(A) ﬁ (B) Tirfrrer st
() we e (D) R

Which of the following pairs of peasant
movement and its starting year is
correct ?

(A) Marwar Peasant Movement — 1920

- (B) Shekhawati Peasant Movement — 1927

11.

12.

102

~ (C) Bharatpur Peasant Movement — 1938

(D) Begun Peasant Movement — 1921

T SR 9§ IH% T 8 % o
fefifgada s Nd e &

(A) URETE fFam e - 1920

~ (B) @mEr e TRl — 1927
(C) W fopem 3o — 1938
(D) o fopuam sl - 1921

‘Which of the following districts of

Rajasthan have highest forest cover ?
(A) Banswara, Jaisalmer, Bhilwara
(B) Tonk, Sikar, Ganganagar

(C) Pali, Sirohi, Barmer

(D) Baran; Chittorgarh, Udaipur
oy & frefefen @ @ /7 et
T SATESTE 8 ?

(A) siaaTgT, SEeTm, siererst

(B) 2, T, TR

(C) e, forlidt, ST

(D) i, Feiterrg, Igaq

In Rajasthan Brown soils are found in
(A) Jaisalmer - (B) Bharatpur

(9] Burgi;m qrg(;)?ﬁ%armer
TSI T

(A) JgerRA  (B) WA H
(C) d&# (D) Errsﬁtﬁ

14.

13.

15.

16.

Which of the following pairs is incorrect ?

Wild-life Sanctuary  District
(A) Jamwa Ramgarh — Jhalawar
(B) Sariska — Alwar
(C) Kesarbagh — Dholpur
(D) Sajjangarh ~ Udaipur

éﬁamwm% ?

Fefig avemer Rem
(A) STHIT THTG — HAdE
(B) aftenT ~ TS
(C) SaREm — R
(D) #59Tg - 3R]

What is meant by ‘Seeravan’ ?

(A) Breakfast of farmers in rural areas

(B) Lunch of rural farmers

(C) Dance of Mewar region

(D) Clothing of rural peoples  in
Dhundhar region

“Hia G A g ?

(A) Tvior &5 o femamT <1 ST hTeti T

(B) UTHor foRaTT ST SIaER BT WIS |

(C) HaTS & 1 e

(D) gere &= ® wnfion 6t e

Where is the observatory of the Indian

Weather Department located in the
Rajasthan ?

(A) Mt. Abu (B) Jaipur

(C) Kota (D) Jodhpur ]
wRer Hrge fem TSt |
wgiferag 7

(A) IR AT (B) X

(C) T (D) S

In. 1817-1813, following states of
Rajputana signed the treaty with East

India Company :

1. Kota 2. Jodhpur

3. Karauli 4. Udaipur
T i Frefafea f{maa‘r q1817-
1818 3. & $ 3081 HET & W1 WY T
1. 2.

3. el 4.

Which of the following chronolog1ca1
“order is correct ?

ﬁnﬁﬁaﬁqmmm‘v@%?
A) 3 1
§B34‘3 2 1
© 2. 1 3 4
1 2 3 4
(u |



17.

18.

19.

20.

What is the present tagline of marketing

campaign of Rajasthan Tourism ?

(A) Padharo Mhare Desh — Rajasthan —
The Incridible State of India

(B) Jaane Kya Dikh Jaaye

(C) Kuchh Din To Gujaren Rajasthan Me

(D) Colourful Rajasthan

TSR T o v s <t sdam

ST AT ?

(A) THRI TR 3 - TRYH-T F3615TA
WE 37k 3fean

(B) WM 1 few sy
(C) T e A TR Toreye 8
(D) TfteT TS

Who is considered as the father of
Rajasthani architecture ?

(A) Rai Singh

(B) Man Singh

(C) Maharaja Vijay Singh

(D) Rana Kumbha

TORTHY SRegehetT 31 S FoRl HIFT ST R 7
(A) TafiE _ (B) wHfg

(C) werT fasmfég(D) wom s

Birth place of freedom fighter Shri
Kesari Singh Barhath is

(A) Naseerabad  (B) Kharwa

(C) Mandalgarh (D) Shahpura
wear A g GRES T
et 8

(A) TEETE (B) @@

(C) umvserTe (D) 3rEgu

Choose the incorrect pair of literary work
and its writer :
(A) VeerSatsai -~ Suryamalla

' Mishran
(B) Ekling — Chandra Prakash
Mahatmya Deval
(C) Chetavani Ra — Kesri Singh
Chungatia Barhath
(D) DholaMaru - KaviKallol
Ra Duha
A1 w1 3 3o Wiy % o
1 T FI HIT ;
(A) R waws ~ uee for
(B) THITMWEA -~ HENERI ad
(C) wamEftT

~ Faifig IvEs
e | '
(D) TENAETEE - IS Hewiiet

25.

21.

22.

23.

24.

According to climatic conditions and
agricultural products, Rajasthan state is
divided into how many Agro-climatic
regions ? ] v
FAIEET gt R Htea e b
YR W TALH I fohea H-SFerarg
g5t o v R @ 7

A) 12 (B) 8 D) 15
Who among the following is associated
with Bhavai folk dance of Rajasthan ?
(A) Falku Bai ~
(B) Shanti Devi

(C) Krishna Vyas Chhangani

%MangiBai

T H QB M H T A o
TG R 7 .

(A) B (B) Wit eef

(C) =8 Bfi(D) At 918

Central Sheep and Wool Research
Institute is located at
(A) Nagaur
(B) Ambikanagar (Avikanagar)
(C) Jaisalmer
(D) Alwar
g TS I IITHYT eI Fal R 3 7
(A) TR

Which of the following pair is‘Anor‘l—relevant ?

(A) Kaila Devi — Karauli

(B) Karni Mata  — Deshnok

(C) Jeen Mata — Jamwa Ramgarh
D) Rani Sati — Jhunjhunu

%mﬁr%a U@ B YW IETE R 7

(A) et &t — e

(B) wuft aran ~ YA

(C) Sftor mran — S TG

(D) Toft el - ¥

With which crop the hybrid variety known
Mahi Kanchan as developed by the
Agricultural Research Centre, Banswara, is

related ?
(A) Maize (B) Jawar
(C) Wheat _ (D) Rice
A e P wEA A Tafa @ 7
(A) HeHI (B) SER
©) 7§ (D) TE&* -
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26.

27.

Rajasthan Union is formed on 25%
March, 1948. Who was the head
(Maharaj Pramukh) of it ? ‘

(A) Maharaja of Dhaulpur

(B) Maharaja of Karauli

(C) Maharav Kota _
(D) Sirohi Maharaja :
TSE g b Fmiw 25 W, 1948 @
T | 369 HERS W@ fohd) sman T o ?
(A) ST % TR

(B) =lieft & HETIST

(C) WEWTE Hiel

(D) Toth wgrr

In which of the following region of
Rajasthan fair of Sitabari is organised ?

(A) Marwar (B) Mewar
(C) Bagad (D) Hadoti
T & e o 3 Topm & 1 e 1
Fer s fera ST g 7
- (A) TRETE ® (B) HaTe ¥ _
(C) smg d (D) EERH

28.

29.

102

Kripal Singh Shekhawat of Rajasthan has
received Padmashri Award in 1974 for
his contribution in the field of

(A) Ivory works  (B) Blue pottery
(C) Lac works (D) Literature
TSTEIH o g SR = 3% TR &
# Aig o Taw 1974 H agAst [Esr T
1

(A) eeficfasd  (B) s uied

(C) arg H1 (D) wTiE

Which of the following pair of fort and its
place is not correctly matched ?

Name of the Fort  Place
(A) Gagron fort — Jhalawar
(B) Mehrangarh ~ Jodhpur
(C) Bhangarh — Alwar
(D) Bhatner fort — Bikaner
et 3 37 sy =1 Freferfga & 8 e
w1 gm gafera T & ¢ |
e kaEicy L3IC]
(A) TR fepe — AT
(B) HETHTG ~ U
(C) W — 3R
(D) e femet — #fleme

30.

31.

32.

33.

34,

Which Agency is financing the External
Aided Project - Rajasthan Urban Sector
Development Program ?

(A) ADB (B% JICA

(C) WB gD IFAD

Bl RSHRRIR ] - TRy &l
& faerg Sriwa 1 S o v o ygm
R ?

(A) TELH, (B) .IEHT,

(C) Ty, ol (D) TE.TH.T.EL.

Which Lok Devta of Rajasthan fought
with Mahmud Ghaznavi ?

(A) Pabuli (B) Saint Peepa Ji
(C) Jasnath Ji (D) Goga lJi
TERYT o TohH wiieh o] 4 TEHg ToFaT §
73 feea 7 .

(A) 9y St (B) @@ diar st

(C) SISt (D) WSk

To control the expansion of desert,
Central Arid Zone Research Institute
(CAZRI) is established in the year 1959 at
(A) Jaipur (B) Jodhpur

(C) Udaipur (D) Jaisalmer ,
srecere 3 et P 503 35 o,
1959 o Hff I&h &F FTEUE TEH
Gas) a?rﬁww Hrg 5
(A) SETRH (B) FHRH
(C) e H (D) ST H
Mukhyamantri Jal Swawlamban Yojana
was commenced from :

A) 27 January, 2015

B) 27 January, 2016

C) 27 February, 2016

D) 30 March, 2016 .

ERESIERCERISCIB T+

(A) 27 SFad, 2015 @

(B) 27 a1 2016 &

(C) 27wl 2016 |

(D) 309, 2016 9

Which was the golden age of Kishangarh
style ? '

(A) Rana Kumbha Reign

(B) Raja Savantsingh Reign

(C) Prithviraj Chauhan Reign

D) Raja Kishansingh Reign
%WFFT% ﬁ?ﬁ%ﬁéﬂ@iﬁ?m a7
(A) TOT T <1 ATETHTSA

(B) T T TR
(C) AT =g 1 AT
(D) T T TR



35. According to Economic Review (2020-

36.

37.

21), as on 31 March, 2020, State
Highways total road length in Rajasthan
is approximate

e waar (st ) (2020-21)
% ITTER, 31 HE, 2020 q ToRUM |
mwﬂﬁwm%m

(A) 15621.25km (B) 17520.30 km
(C) 18200km (D) 16500 km

Match the following irrigation projects
with districts and select your answer
using the code given below :
Project Districts

(a) BankliDam (i) Pratapgarh

(b) Som-Kamla (ii) Sawai

" Amba Madhopur

(¢c) Morel Dam (iii) Jalore
(d) Jakham Dam (iv) Dungarpur

frafafea fomms wiasmmet # et &

mﬁwgqaﬂvﬂ%ﬁqnq@mmw
319 I BT =TI HIRT

R o
(a) SRS (i) wAUTR
(b) EE-FHA (i) FETS AEG

Kot
(c) TRE S - (jii) FER
(d) IrEHEY (iv) YK
Codes/ %2 :

(@ () (© @
(A) () Gv) (iii) (ii)
(B) (iii) (iv) (i) (i)
(©) (i) (i) () (Gv)
D) @Gv) @ @) (i)

In which of the following area the
Dhundhari  language is  spoken
prominently ?

(A) Shekhawati ~  (B) Sikar

(C) Udaipur (D) Jaipur

= 4 9 e & 1?1 &Sl WI§T Y &
et ST R 7 |

(A) S (B) @ﬁm

(C) 3@W (D) S=agt-

40.

39.

38. Amrita Devi, her three daughters and

hundreds of other peoples lost their lives
saving trees. In 1731 King of which state
gave order to cut down trees ?

(A) Sikar (B) Jodhpur

© Udalpur (D) Chittorgarh

jﬁ? i) g 3=y dwel
' E| ﬁs‘f H FEN &% I FgaT Shaq

g | ad 1731 # e famea & e 3 ¥t

FI HEA FTARY e 7

(A) (B) Gﬁuat

(C) 3R (D) TeiisTTe

Match the crops with its 1mproved strains
and choose the correct answer. from the
code :

(a) Rice 1. RAJ911, Sonalika,

D-134

(b) Wheat 2. C 235,H 208, G 130

(c) Gram 3. Bala, Pusa 221

(d) Cotton 4. PSTY, Dev1ra_], Devitej
HEA TH ST I R ) Rrese R
% o TE I BT =TI HI ;

(a) 99 1. RAJ 911, 9Fifersst, D-134

(b) 7§ 2.C235,H208,G 130
(c) I 3. &, g 221

(d) ®9E® 4. PST9, , etast
Codes/ e

@ ) © @
A) 4 3 21

B)2 3 4 1 " Tty o
(C) 3 1 2 4
M1 2 3 4

Which of the following places are related
with zinc mines ?

1. Mochia 2.
3. Balaria 4,
5. Zawar mala
Chdoose the correct answer from the given
code

Dingor
Dadiya

(A) 2,3and 4 (B) 1,3 and 5
%:érlzands (D)34and5
: T o 4 wF N @l @ g=fRh
&7
1. wfasn 2. iR
3. waEn 4. wifem
Rmge 8 78 A

T He TR =
(A) 2,334 (B) 1,33MW5
(C) 1,233 (D) 3,435
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41.

42.

43,

44.
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PART - B (¥T11-9)

Which rocks are formed by change in the
character of the pre-existing rock ?

(A) Sedimentary rocks

(B) Metamorphic rocks

(C) Igneous rocks

(D) Volcanic rocks

gt @ wivg TEFl 1 vl # wied @
S o wgH w E

(A) @ =agH

(B) SHEaRd wgH

(C) Fmg ¥gH

(D) ST TgH

Alumina as ingredients of ordinary

_cement imparts

(A) quick setting property to the cement.
(B) strength to the cement.

(C) colour to the cement.

(D) plasticity to the cement.

YR Hiie it grfl % 9§ gyl

e T 8

(A) Hitie & forg i e o7

(B) diie = qmed

(C) diHe s T

(D) Hie %! R |
The defects that are indicated by the
curvature formed in the direction of
length of timber is called

(A) Warp (B) Twist

© Check. . (D).Bow

TG T TS hI e F S el
471 G e 8 8, 3 e &

(A) FeR (B) A

(C) vageea (D) 43

The carbon content of medium carbon
steel is about

TG ST AT BT HTET HI TTHT ]
(A) 0.10% —0.25%

(B) 0.25% —0.60%

(C) 1.25%-1.50%

(D) < O 05%

45.

46.

47.

48.

The process of burning limestone to

redness in contact with air is called -

(A) hydraulicity (B) calcination

(C) slackening (D) setting .

B % U B 1 IR Y AT BN TH

e <ht TfshaT FHEaTd 8

(A) gE=tfeaar. (B) T

(C) TeA (D) Fwe

Drawing operation involved in mechanical

treatment of steel is carried out

(A) to reduce the cross-section. & to
increase the length proportionately.

(B) by repeated blows under a power
hammer or a press.

(C) to get article of desired shape.

(D) to prepare angles, channels, flats, etc.

mfgmaqaﬂ srrﬁ?«rgﬁrr FTRIA
ﬁh‘m AT B

(A) m-ﬁwmaﬁwsﬁﬁaﬁtmré$
TUTIS &9 W g % foTe |

(B) T Wifh 5UTET A1 U I & efi aR-
IR |

(C) aifisa TR <l =g ITH A & fTT |

(D) %ﬂﬁ e, TS I HY TR F %

The purpose of test is to detect the
presence of uncombined lime in cement.
(A) settingtime  (B) consistency
(C) soundness (D) fineness

_ ofveror 1 SRye dile o g
Y St =1 Tar e R | ‘
(A) JTIAHEA  (B) G
© Feifbr @) g
A good brick earth should contain about
(A) 20% to 30% of alumina
(B) 20% to 30% of silica
(C) 2% to 3% of oxide of iron
(D) 30% to 35% of lime
T IRt S Y frdh & e @ =i
(A) TIRAT T 20% & 30%
(B) 20% & 30% fafers
(C) &% ATFATSE 1 2% A 3%
(D) 30% & 35% ST



49.

50.

51.

The vehicle ingredients of an oil paint is
used

(A) to make the paint thin.
(B) to accelerate the process of drying.
(C) to form the bulk of a paint.

(D) to hold the mgredlents ofa pamt in
liquid suspension.

@ﬁéﬁﬁz%mmwmﬁm

SRR

(A) U = Uae HH F faw |

(B) GE™ 1 wfFa & 3ft o % e |

(C) W U2 & Iraas e & g |

(D) T fAeisa § U2 % "l & unu %
fow

Give the full form of CPM :

(A) Construction Project Manager

(B) Construction Protocol Management
(C) Contractor Project Management
(D) Ceritical Path Method

Hidien =1 of w9 waTd :

(A) HECHRA TSR AR
(B) M TeIHie dee
(C) HIHI TS HASH=<
(D) shifesrar oy AYE

Fixed indirect cost of any project
includes

(A) royalties and license fees.
(B) overheads on office.

(C) interest on capitals.

(D) supervision and amenities.

ﬁﬁsﬁaﬂw&mmaﬁﬁf%mmamﬁ
Mg

(A) Uaed) 3R 1569 o

(B) ST W YN

(©) T wsrw

(D) vEaEr i gl

52.

53.

54.

Lag time is the

(A) time by which an event preceded by
it must be completed.

(B) earliest time by which a successor
event can follow a specific PERT
event. '

(C) time performing more
activities. in parallel.

(D) measure of the excess time &
resources available.

EREGHED R

(A) 98 a9 59 e fopeft wer 1 3|
g g feman s EnfRw |

(B) Rty oy Rroeh g wsh Sauitesd
Tz U fafits fEemd (W) e
FTTERYT T Tt 2 |

(C) wmmiR ¥ arftres wemyyl wiafafrat
1 Y3 T 9Tl 997 | |

(D) 3Iuete faftes T 3R HEmeHl 19 |

is the minimum possible time
required to accomplish an activity.
(A) Expected time
(B) Most likely Time
(C) Pessimistic Time
(D) Optimistic Time
e it W g sa % i
AT RAAH NI HTAE |
(A) TeTfTa e
(B) THRTEIaH ST
(C) TrremaTe s
(D) RIS HTeA

critical

Which equipment is used to level the
ground and spread the loose material?
(A) Power shovel (B) Bulldozer

(C) Grader (D) Dragline
S @ gHae B IR Al gl @
TR & ¢ form 3ushtor w51 3w fea
AT -
(A) TERIEA  (B) YeISNT
(C) I (D) STrerTe

102

58.

56.

57.

58.

102

During the working of crane, the luffing

operation is used for

(A) raising the load from its position.

(B) moving the boom in or out as
required.

(C) moving the boom in arc.

(D) lowering the load at the point of
destination.

% % HEeH % oRH, Sfiam @ %

T 1 IUART foRa S @

(A) wgaﬁf@rﬁféwwﬁ%mé

(B) ¥ I ATATIHATIHR e A1 ATE
I &% fo1u |

(C) I T T H! M % forw |

(D) i % g W WR %A i & T |

A fluid which possesses viscosity is
known as

(A) non-newtonian fluid

(B) newtonian fluid

(C) ideal fluid

(D) real fluid

T e o e gl & 39 hET Sl 8

(A) M-=fe aeat
(B) =M ot
(C) eyt a

(D) STferdh ot

In MKS system, the surface tension is
expresses as

MKS Worreft #, I8 19 1 $6 YR ST
[ERIEIGIE
(A) kgt/m
(C) N/mm

(B) N/m
(D) mm

‘Vacuum pressure is defined as the

pressure below the

(A) absolute pressure
(B) gauge pressure

(C) atmospheric pressure
(D) zero pressure line

IEEIRAAICED] AR H T H &Y
H ufenfia frer s &
(A) Fudes - (B) N9 eSS

(C) Irgvee gamd (D) I &N @1

59.

60.

61.

62.

63.

The flow in which the velocity at any
given time does not change with respect
to space is called as

(A) steady flow

(B) uniform flow

(C) non-uniform flow

(D) unsteady flow
ﬁw% o) Pl T W T &

Wﬁéﬂqﬁaqwlé, FEAT B
(A) RR vy (B) UHHHH Y8
(C) Fh-TuH Y18 (D) HRR 58

Equipotential line is a line along which
the velocity potential is
(A) negative (B) infinity

(C) zero (D) constant
wnfe YEr 9E Y@ § e sERw
IECCKS

(A) THRTCH (B) 3Td

©) = (D) fer

The device used for measuring the
velocity of flow at any point in a pipe or
channels is

(A) orificemeter
(C) pitot tube

(B) venturimeter
(D) manometer

91Eq 1 99 A fandt oft foie wt warg & an
! T & f9u s@ue cicECiH)
ITHTT &

(A) AR der  (B)
©) fRegs (D)

Cipoletti weir has side slopes of
(A) 1 horizontal to 4 vertical
(B) 1 horizontal to 2 vertical
(C) 1 horizontal to 8 vertical
(D) 1 horizontal to 6 vertical
it fomem o rved waroran €

(A) 1 8RS 9 4 FEea

(B) 1 &fw 9§ 2 we=w

(C) 1 &fer @ 8 e

(D) 1 &f= 2 6 wwam

1 sq.m. is equal to

(A) 1296 sq. inches (B) 9 sq. feet

(C) 1.196 sq. yards (D) 10. 76 sq. yards
1 o7 oftex oeh sUE R

(A) 12065 (B) 95#@2

(C) 1.196 T (D) 10.76 & T



64.

65.

66.

67.

68.

The englmeer chain used for chain survey
on
%‘-r—{ﬁm ‘36 foru Rurer & IM aTel
iR R R
(A) 15m (B) 33 ft
©) 66 ft (D) 100 ft

In transit theodolite, the index frame or a
T-shaped frame consisting of a vertical
leg is known as

(A) clip screw
(D) vernier arm

e N GOl
wﬁmmﬁ@wﬁt@m% 39 &

(B) index arm

EEEIEIGIES '
(A) T By (B) 3359 3
(C) frafimamdt (D) s amd

is a relatively permanent point
of reference whose elevation w.r.t. some
assumed datum is known.
(A) Bench Mark (B) Mean Sea Level
(C) Ground Level (D) Level. Line
T e Sl e g R Rt
FS SFHTG 3T 6 T H I FIA R |
(A) &= HTh (B) HIEd 99 O
(C) qaaa (D) &t @1

The contour interval should be

(A) zero

(B) infinity

(C) directly proportional to the scale
(D) inversely proportional to the scale

= AU BT 91T

(A) I
o gq;aﬁéswm
©)

(D) ¥R % SgwhwTgaTd

The angle between the zenith and the
celestial equator is called

(A) altitude (B) latitude

(C) azimuth (D) longitude
Rrfeg ot wiiefa fageaega & f9 &
VT Hl HET AT 8

(&) g
(C) feim

(B) et
(D) TR

10

69.

70.

71.

72.

73.

74.

The size of field book is about

hiee G HT B AT

(A) 20cmx 12cm (B) 18 cm x 12 cm
(C) 12emx 22 cm (D) 12 cm x 24 cm

In drawing phase diagram, the weight of
air is assumed to be

TSR 3TRE GIET H, &1 1 W1 FHT S 8
A0 - B!

©) 2 D) Ls

In ISCS, the symbol used for silt type of
soil is

ISCS H#, mma‘ﬁﬁ—@%mw
Tefieh 2

(A) S (B) C

© M D) O

The modulus of elasticity of concrete can
be assumed as as per IS-456-
2000.

IEEE 456-2000 F HTER HhIE I

JERAT AN HET S dhar s |
(A) E_ = 2000vfck

(B) E = 500vfck

(C) Eo=0.5Vfck

(D) E. = 5000vfck

"For a well graded soil, co-efficient of

curvature must be between

(A) 51010 (B) 3t0 6
(C) 1103 (D) 3t05
w garlt gt & fore, shan oni
% ot g =1feT |
(A) 5910 (B) 3¥6
(C) 193 (D) 395
Calculate the value of Flexural strength
of M20 grade concrete.
M20 3€ Sshie % ST TS & oed Y
AT R |

" (A) 3.13N/mm? (B) 5 N/mm?
(C) 3.5N/mm?  (D).10 N/mm?

102

75.

76.

102

In tri-axial compressmn test, the length of
specimen is kept about _its
diameter.

(A) 1.5t02times (B) 1to2.25 times
(C) 1to1.5times (D) 2to 2.5 times
Brorefia wdte whieor &, T 6 www 3w

ST o TS w2
(A) L5327 - (B) 182257
(© 19157 (D) 289257

In which system the water required for

 irrigation is supplied throughout the crop

period as per requirements ?

(A) Inundation Irrigation

(B) Perennial Irrigation

(C) Direct Irrigation

(D) Lift Irrigation

Tora yomreft & firems % fore stavars s@ i
IYfd woer 3Efy % N AR %

| AR I AT R 7
(A) 3rreareH e (B) s Riw

(C) it (D) 3 f=md

In border strip flooding method, the farm

is divided into a series of strips

(A) 5mto 10 m wide & 50 m to 100 m
long

(B) 8 mto 15 m wide & 50 mto 100 m
long

(C) 10 m to 20 m wide & 100 m to 300
m long

- (D) 20 m to 30 m wide & 300 m to 400

m long

Hara vt aneerres Ry |, @aa%q%a‘raﬁr

& g A faenfra fman wmar &

(A) 5 Hiex & 10 Hie =i it 50 Hrex &
100 ¥iex )

(B) 8 @ 15 wiex =it 3k 50 W |

100 ez =ht ;
(C) 10 Hiex & 20 ey gt 3t 100 Hex
¥ 300 tfiet et
(D) 20 i 9 3orﬁa%ﬁ?ﬁaﬁx3oorﬁa
T 400 e Feft '

11

78 By turning the pipes through

(A) 135 Rft

79.

-80.

81.

, the
entire width of 15 metres between the
pipe lines can be irrigated in the fixed
nozzle pipe system.
(A) 135 degree
(C) 45 degree (D) 180 degree
TR | YA, UISY el
o 15 et b It =eTs ! e Ao
ursy fereem # fifvra foren s wwar 21

(B) 60 feft

(D) 180 f&ft

(B) 60 degree

(C) 45 f&h

Duty represents

(A) the whole period of cultivation

(B) the time that a crop takes from
sowing to harvesting

(C) the total depth of water required by
a crop

(D) the irrigating capa01ty of a unit of
water

%1 (Duty) 39! SRifiRre s R

- (A) Tt gt ety

(B) U HHS T A o T8 0% 5T THY
© w%mmmeﬁw

(D) Wt Y e 3T <ht s s

are sown in autumn & harvested
in spring.
(A) Kharif crops
(B) Rabi crops
(C) Perennial crops
(D) Eight months crop '

WRa g # Seft et & of s

g B 1t Sireft € |
A) &% waa
B) & wae
(C) &R wH
(D) 3113 HER ) HuA

In Kennedy’s theory, the Value of
constant ‘C’ for coarse silt is

Fd % frgra #, vy e F i R
‘CHAAE (-, T

(A) 0.70.. . .- (B) 0.65

(C) 0.59 (D) 0.53



82.

83.

84.

85.

L kR P

The amount of precipitétion is expressed.
as the depth in , which falls on a

level surface.

H TR & €9 §
{3 e &, S weh wHae 98 W R R
(A) cm B)m -
(C) mm (D) sq.m.

For getting good brick bonds, the amount
of lap should be minimum along
the length of the wall.

(A) 1/4 brick (B) 1/2 brick
(C) 1 brick (D) 2 bricks

3 o o ww w@ & fae dar 6
AR P AA-FI AT AL
Bt =T |
(A) 1/4%2
€) 1%

English bond
(A) in which all the bricks are laid as
stretchers on the faces of wall.

(B) in which all the bricks are laid as
headers on the faces of wall.

(C) consists of alternate courses of
headers and stretchers.

(D) is used where bricks of different
thickness are used.

(A) fori aft 2 ) SR F Borhl W
W S EIH @IA@R |

(B) Torei oafi $21 A1 iR o werhl W RS
FEYH @ IEAR |

(C) T et 3R Bt % THTer e wiker & |

(D) 1 391 3 e @ et it wierd
&1 €31 &1 IuAm fpaT I § |

The floors supported above the ground
level are called

(A) sub-floor

(B) ground floor

(C) solid floors

(D) suspended floots
%ﬂﬁm@mmnﬁvﬁﬁﬁm%
(A) Sq-tife (B) gem AR

(C) 3@ (%18) & (D) Freifera w3

B) 12%
(D) 28

12

86.

87.

88.

The process of placing a new foundation

under an existing one is called

(A) underpinning of foundations

(B) shoring of foundations

(C) shuttering of foundations

(D) scaffolding of foundations

T HiSET id % 98d Th A AT WA A

wfsha <l T ST B

(A) g =1 sty

(B) e <t 2wa<]

(C) e ! aEara=d!

(D) i w1 arg

Trestle scaffolding is used for

(A) the construction of upper part of wall.

(B) repair works such as pointing and
pamtmg

(C) painting and repalr works inside the
room upto a height of Sm.

(D) brick laying. '
i 9 *1 ITAN % forw fopan

AT R |

(A) <R Sl feed = fmfo

(B) TTwd % S uigfen o gfen

(C) HH % et 5 Wit 1 Famg s o
i Toa

(D) ¥ faB™ o

Find the incorrect statement.

A good formwork

(A) should be suitable for re-use several
times.

(B) should be water proof so that it does
not absorb water from concrete.

(C) should be strong enough to
withstand all loads.

(D) surface should be rough.

TTEAq YU 1 TdT T |

T DT BIHTH

(A) :Té%ir{ TH: 3T % o U B

(B) FoIHg §1 =IRT AT I8 bl &
arf & srEmfya A |
(C) weft urt =1 AT A & fore waw
BT =118

LECY |
(D) a8 Gl B! =11T |

102

89.

90.

91.

92.

Q)5

For hand compaction, the thickness of
layer of concrete is limited to

(A) Scmto10ecm (B) 10cmto15¢cm

(©) 15cmto20cm (D) 20 cm to 25 cm

T "& & forg, sshie 1 wa i werd

T S g |

(A) sefrg 103 (B) 109 153
(©) 159 203 (D) 20 aft & 25 Tt

As per IS method for concrete mix
design, the standard deviation for M30
grade of concrete is

Hehie T feomea & forw amdw wgfa %
ITER, m% M-30 38 & forw A
forem g
(A) 3.5 (B) 3
(D) 4

As per IS method for concrete mix design,

for every decrease of w/c by 0.05,

(A) the coarse aggregate volume may be
increased by 2%.

(B) the coarse aggregate Volume may be
increased by 1%.

(C) the fine aggregate volume may be
increased by 2%.

(D) the fine aggregate volume may be
increased by 1%.

wehie oo faamem & fore amdw ugfa &

FER, w/c 3 T3 0.05 92 % fog

(A) A forerar wmn & 2% 6t gig
a1 g |

(B) ey foretman wmn § 1% i gfg W

el 8 |
(C) g&w forman umn & 29 <61 gfg B s
Tehell B |

(D) ge foremar wmn § 19 6 gfg B
Hhell & |

Calculate thevvalue of X nax for a beam

. with' 500 mm effective depth as per IS

102

456-2000, for Fe 250 grade steel bars.
Fe 250 U 3ema B % o 31mdem 456-
2000 % AR 500 ot el e st

dmH X % e HETH |
(A) 260 mm

(B) 265 mm
(C) 200mm 7, (D) 245 mm

13

93.

94.

9s.

96.

97.

98.

- What will be the value of bolt hole

diameter for 12 mm diameter bolt as per
IS 800-2007 ?

HTETE 800-2007 % HFTER 12 fndt =arg

%Tmﬁﬁil 72 < fore e o samer o1 et
()

(A) 13 mm (B) 26 mm

(C) 20 mm (D) 10 mm

Calculate the minimum spacing of 20
mm diameter bolt as per IS 800-2007.
3TETH 800-2007 % TER 20 forfh s
FIeE o AAH IF-RTE hl TUHT Y |

(A) 25 mm (B) 50 mm

(C) 20 mm D) 10 mm

Calculate the value of minimum edge
distance for 20 mm diameter bolt using
machine flame cut.

9l o e T 3TN FH 20 Frft s
% diee % g aam fem A gl S g Y
TOHTHRL |

(A) 25 mm (B) 22 mm

(C) 20 mm (D) 33 mm

What will be the minimum width of
lacing bars for 16 mm diameter bolts as
per IS 800-2007 ?

HTETH 800-2007 % AT 16 finft = &
Fiee & Y dus w3l 1 <Hae e @
grfl?

(A) 48 mm (B) 32 mm

(C) 16 mm (D) 33 mm

Gravity retaining wall is. used for walls

upto the height of

# F=E T ‘q?r ﬁ:lﬁﬂﬁ % fog

%ﬂrrfém e R 1 Su=i fm St
|

(A) 3m (B) Sm

(C) 6m (D) 4m

Calculate the effective length of column
having c/c length of 4m and both ends are
fixed as per IS 800-2007.

Hie 6 gl FaTg v H R
c/cwﬁr—'ﬂa%aﬂ'{ﬁ‘tﬁ{ﬁm
800-2007 %, FIET 7g R T R |
(A) 2. 5.mm (B) 2 mm

(©) 2.6mm’ (D) 4 mm




99.

100.

101.

102.

103.

104.

(&) 049 (B)

(A) 4

If the ISA 100 x 65 x 8 is used for tension
member, with 100 mm leg as the
connected leg using a welded connection.
What will be the shear lag width ?

i ISA 100 x 65 x 8 1, afced Sg &1
IINT KT FEIT & TR R 100 mm T H
1 a9 3 5 %t'q Iyam R T R, @
ST T ) Srerd Bt 7

(A) 65 mm (B) 70 mm

(C) 100 mm (D) 8 mm

Give the value of Plastic modulus for
ISHB 250 @ 54.7 kg/m weight.

ISHB 250 @ 54.7 kg/m 94 %
YL HITe T JH |-

(A) 705 cm3 (B) 708.43 cm®
(C) 504.5 cm? (D) 200 cm?

As per IS 800:2007, the value of 1mperfect10n

factor for buckling class “b” is

FTETE 800:2007 % HER, SATHEA il
“ﬁ”a;m mm%
347(C) 0.76 (D)0.21

In bolted construction, the minimum

width of lacing bars shall be times
the nominal diameter of the end bolt.

dice et famior 8, sue v B
ﬂﬁ@éaﬁnﬁ&z%aﬁ%ﬁwm

TR |

B) 5 <) 2 D)3
For working stress method,
rectangular beam 300 x 400 carries an
axial tension of 300 kN. Calculate the
value of tensile stress in it.

FHFh e ffy % R, IR @

300 x 400 TGS &9 300 kN =07 e

AT ST A 8 | T o e % g
& 7o HIRA |

(A) 2.6 N'mm?  (B) 3 N/mm?

(C) 5.3 N/mm? (D) 2.5 N/mm?
Compressibility is the reciprocal of the
(A) surface tension

(B) capillarity

(C) bulk modulus of elasticity

(D) viscosity ‘
AR ?

(A) EB?"{T&?‘ ‘

(B) wfsrre o

(C) mrwmmwmm

(D) ¥F=«n FRDE

if a

105.

14

106.

107.

108.

109.

110.

Tar is a by-product of
- (A) destructive distillation of coal

(B). destructive distillation of asphalt

(C) destructive distillation of aggregates
(D) destructive distillation of bitumen
Fad 1 IY-IATE 8 |

(A) SIS T Wh HTHSHA

(B) UTHIEE 1 W AT

(C) Torema w1 Wik JTTEEA

(D) fogam 1 ¥iowk TTEET

A soil sample has a porosity of 40% then
what will be the value of void ratio?

s o & T3 § aar 40% g @ ff
3TUTA T & T BT ?

(A) 0.45 (B) 0.6

© 05 (D) 0.667

The simply supported beam carrying
central point load (P) has maximum
bending moment, M=___at the center.
g YR (P) 1 ¥ wO et
TeefaE €9 8§ g | s §%

smuiM=__  ®arg|
(A) P 172 (B) P 1/8
(C) P 1/4 (D) P 1/6

A mild steel bar has a gauge length of
80 mm and the total elongation is
0.08 mm, find the stram produced in it.

T g~ 3T 48 Y AT ofar 80 freft &
IR B a"rﬁmvr 0 08 ﬁzﬁ 8, 389 I

 forpfer s g
(A) 0.001 (B) 0.1
(©) 0.01 (D) 0.10
The relative density of a loose soilis
el i) &1 amafdes T 7
(A) 10-12% B) 15-35%
(C) 40-60% (D) 0—5%

The specific gravity of soil is 2.70 and
void ratio is 0.667, what will be the value
of dry density ?
firadt o farfime e 2,70 B 3 ey s
0.667 &, Y[ Tcel 1 e FT G ?
(A) 15.89kN/m> (B) 16 kN/m?
(C) 1445 kKN/m3 (D) 14 kN/m3

102

111. If a simply supported beam of 6 m span

112,

114.

115.

102

. Ona

AARRNN

carries a point load of 50 kN, calculate
the value of Reaction forces.

7t 6 m g areft Ygrefrm im 50 kN
1 Tk fiig W T et & o wfrfshan st
% T 1 TR R |

(A) 30kN (B) 25kN

(C) 50kN (D) 28kN

Find the total duration of the network of
a construction project work shown in
figure.

o 3 R T o e v e
e 1 et v 7 R |

®
(A) 21 days/fm (B) 17 days/féq
(C) 25days/fm (D) 29 days/fem
, it is possible to measure
three dimensions such as metres,
decimeters and centimetres.
(A) diagonal scale (B) plain scale
(C) vernier scale (D) scale of chords
TH W, @i I 9 e,
Sefieftet 3 T A EvE R |
(A) it (B) grerdam
(C) s ¥ (D) Shenadt w1 dumn

The equation of Toughness index is

aﬁmmmaﬁm%

(A) L7, ®B) I/,
© I D) Ip

For a cantilever beam as shown in figure,
find the Bending Moment at A.
T TTE- 40 & forq, S fo o o femman
TR, A TS T I |

20kN 30kN 10kN 30kN

L

05m  10m

(A) —158 kN.m
(€) -71 KN.m.

>

0.7m

A

g 0.8m
(B) -167 kN.m

(D) —90 kN.m

120.

15

117.

118.

119.

116. In concrete mix design by IS method, for

40 mm nominal maximum size of
aggregate the maximum water content is
arsed fafyr gro e fasor feames &,
40 el arfifem stiresem smme % firema
% foe sifteran st

(A) 180kg (B) 208 kg

(C) 186kg (D) 165kg

The term is applied to the finishing
of mortar joints Joints in masonry.

(A) painting (B) pointing
(C) plastering (D) centering

e R A e el ¥ R
- e am |
(A) e (B)
(C) TR (D) g

What will be shape of S.F Diagram.of a
simply supported beam of span I carrying
central point load P ?

i fog R P & 9 arelht frmr 1 Y
YETARd &9 & S.F 3TR@ T ATHN 41

g 7
(A) % + 4‘; Point of zero shear

.P_bl I Poi
7 e [ oint of zero shear

I3

wl
O oy
In AutoCAD, the command Ctrl + Q is
used for
(A) Plot dialog box (B) Exit-
(C) Object (D) Open drawing
H, Ctrl + Q AT 1 YINT kS

(A) w’zmﬁnﬁw%m

(B) frema & fow

(C) s % frg
(D) 39 gren % fer
In AutoCAD, command creates
multlple copies of objects in a pattern.

H, FHATE Th e A Tegadt
ﬁ#uﬁmm%l ‘
(A) ARRAY (B) ALIGN
(C) CHAMFER (D) EDIT



